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A & 0l & AF 2 E A A
PN H2Z AL
M FUZANEH
& 2T AIZe (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2T Al Dt 20,287,885 17,459,278 2,828,607
Xl 4,802,720
[ia 15,485,165
dATANXEHE 14,520,004 5,829,104 8,690,900
Xl 1,750,720
[ia 12,769,284
2T Al 22 1,702,355 2,294,288 A 591,933
Xl 724,000
[ia 978,355
TAIHE =8 459,995 668, 260 A 208,265
101 @124l 11,986 10,080 1,906
4 JI2ZtHZ22 s+ 11,986 10,080 1,906
o TANE HMauH FFoPY
48,640 * 18 * 220 10,701
o AHEE = 10,701,000& * 12% 1,285
201 £B-2dH| 15,309 20,780 A5,471
01 At 22l 15,309 20,780 A5,471
<g2g=xE > 0
o AN S AV BAH L AR
70,000& = 102 = 123/ 8,400
< SE¥Hl > 0
o BHZAHR F& 7,000& * 7 * 141 6,909
202 Od4dl 8,700 12,400 A 3,700
01 = LH o4 1l 8,700 12,400 A 3,700
o ZBHTAIER =& 20,0008 » 58 « g7 8,700
203 YR =] 4,000 5,000 A 1,000
03 Al =AY R =& 4,000 5,000 A 1,000
o JATA HRFA 1,000,000& * 4& 7| 4,000
401 Al HI K 201 Y] 120,000 620,000 500,000
01 A& HI 100,000 600,000 A 500,000
o FIEMH ANEAY =
100,000,000& * 14 100,000
03 AIE 2 THHI 20,000 20,000 0
o TANE Y 22 S ALEZ
5,000,000& * 4A 20,000
402 2I2H X201 M 300,000 0 300,000
01 B2t AL E X 300,000 0 300,000
o ABEHAY UAEX
20,000,000& * 1504 4 300,000
HEEARX S JIBAIEALS 224,000 230,000 A 6,000
Xl 224,000
401 AIEHI L 20 224,000 230,000 A 6,000
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Al 224,000
01 Al&H| 223,440 229,425 N5,985
o HESXXF JIBAIE ALY
223,440,0008 * 124 223,440
N 223,440
03 Al & = Ch| 560 575 A15
o WLETXT IPAL =
224,000,000 = 0.25% 560
N 560
X otXtE 22l 68,360 1,366,028 N 1,297,668
201 LBt 9| 39,360 38,028 1,332
02 2224 H| 39,360 38,028 1,332
< BBL=ZLHA > 0
o AMXGHAE IS 1,750,000 ~ 12€ 21,000
o HHAXOIXNT CHE & AIEE
31,2503 * 43| » 12& 1,500
< A& EH KXH > 0
o HMHXSIAE AI|etA 22l
200,000 ~ 12& 2,400
o AMHXoIXNE Mo ZE 22|H|
330,000 ~ 12€ 3,960
o AMXGHAE HA fay|
3,500,000 = 33| 10,500
401 AlEHIZL 2 0HY| 29,000 1,328,000 A 1,299,000
01 Al&H| 29,000 1,324,750 AN 1,295,750
o ZAMXGHANE S22 29,000
-2 §EE &4 20,0002 = 400m 8,000
==yl 250,000& * 40 10,000
- dLUEAH 249 11,000,000 = 14 11,000
HI|0|& S SAIHEALE 202 200,000 30,000 170,000
AEHI YL 20| 200,000 30,000 170,000
01 Al&H| 200,000 30,000 170,000
o AJDIEH TAIHEALE EXNEAH (D IE%
X s) 200,000,000& = 1A 200,000
N+ UE ANSAY 750,000 0 750,000
N 500,000
= 250,000
401 Al EHI L 2 0HHI 750,000 0 750,000
Xl 500,000
= 250,000
01 Al&H| 748,125 0 748,125
o )|l HZRAIEl EHXAY
748,125,000 = 14! 748,125
Xl 498,750

- 334 -




2N
X ZH -
L= B

el

0 OY 0

2 & Al D
ZEANZTY
2 Al 2e]

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o 249,375
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Xl 1,250
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WX S F=XJ ALY 1,137,800 2,480,360 A 1,342,560
Xl 1,026,720
s 111,080
HEHe= 2tel 27,000 20,000 7,000
Xl 27,000
201 €2l 20,000 15,000 5,000
Xl 20,000
01 At 22l 20,000 15,000 5,000
o NeLRE P ARl
2,500,000& = 89H 20,000
Xl 20,000
401 Al HI & 28I 7,000 5,000 2,000
Xl 7,000
01 A& HI 7,000 5,000 2,000
o MWgHMe =S 2telAld El
50,000& * 14000 & 7,000
Xl 7,000
HE S0 MaH 8 BXAY 10,800 0 10,800
Xl 9,720
[ia 1,080
402 RI2EXt20| N 10,800 0 10,800
Xl 9,720
s 1,080
01 22t t= AP E XL 10,800 0 10,800
o MZMBTAZD MBY PE3
600,000& = 18H 10,800
Xl 9,720
s 1,080
HEHet2S =U=SXNSHAY 500,000 350,000 150,000
X 450,000
[ia 50,000
401 AIEBIZ 28I 500,000 350,000 150,000
X 450,000
[ia 50,000
01 A& Hl 496,000 347,200 148,800
o XAH HFAHOE SXHMHAS A
496,000,000& = 14 496,000
Xl 446,400
i 49,600
03 Al 20 HI 4,000 2,800 1,200
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= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
o MEH NFIHOIE SXME ABMY =8
500,000,000& * 0.8% 4,000
Xl 3,600
s 400
HEMe 2 SB2A 600,000 1,310,360 A710,360
X 540,000
s 60,000
401 Al HI K 201 I 600,000 1,310,360 A 710,360
Xl 540,000
s 60,000
01 A& HI 595,200 1,299,960 AT04,760
o 3A0tE FelZ ZEMY
297,600,000& * 14 297,600
X 267,840
s 29,760
o EZ0IS FelZ =dEAME
297,600,000& * 14 297,600
X 267,840
s 29,760
03 AlE 2 THHI 4,800 10,400 A5,600
o HEME2AUH S$I23AY =&
600,000,000& * 0.8% 4,800
Xl 4,320
i 480
S AR 2tel 7,770,099 1,054,456 6,715,643
SAAHEERZ HE 7,124,974 825,536 6,299,438
101 @124l 5,108 0 5,108
04 JIZHHZ2XNESE S+ 5,108 0 5,108
o T2 AMES 22 URY
48,6403 * 5% * 202 4,864
o AHEE= 4,864,000 * 5% 244
201 Let24] 4,616 6,776 A2,160
01 At 22l 3,416 6,776 A 3,360
< =gl > 0
o TAINEHR F& 7,0008 * 4% x 1222 3,416
02 =224l 1,200 0 1,200
<ES3S2SYLHA > 0
o EZ2 MEE =&E23 & 100,000& = 128 1,200
202 O4dl 2,880 4,860 A 1,980
01 = LH 4 Hi 2,880 4,860 A1,980
o TAMNEHR =& 20,0008 » 3 » 482 2,880
206 M= Hl 2,370 0 2,370
01 M= 4l 2,370 0 2,370
o T2 MES 2ZEA2UE HE 7Y 2,370
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03 A& S THHI 10,000 6,900 3,100
o TAAHEETZ HEFA 10,000, 000& 10,000
NEHEZ HE 20,000 20,000 0
401 Al BIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
o NENE=Z KA 1,000,000& * 20km 20,000
2= 22 625,125 208,920 416,205
201 Let249] 10,400 5,920 4,480
01 At 22/l 7,400 5,200 2,200
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o SZ1NE B RAExH X=(HY)
316,660 » 12& 3,800
o 24 2= Fdl I+ +<
200,000& » 11002 2,200
<2d=g > 0
o AWMPY| FHIAE 2HLY
70,0003 = 10 = 23l 1,400
<3SZSIZLAAM > 0
02 2322l 3,000 720 2,280
o E8E s dJIe3 200,000 * 123 2,400
o 28 s =&Ee3 50,000& = 12& 600
401 Al&HI & 28I 614,725 203,000 411,725
01 A& HI 610,000 200,000 410,000
o &ZZ OtXIx=g2 X &3 & &AX
550,000,000& * 14! 550,000
o HAUHNUAE(ZHS, 2B, HAB)
10,000,000& * 37H £ 30,000
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S LEoid Folgle JE Fbl
200,000& * 1009H £ 20,000
o SAZNE AU =X 2
250,000 » 2000 & 5,000
o 82§ sl 5,000,000& * 1A 5,000
03 A& =TI 4,725 3,000 1,725
o AKX 20&0= FHIMY =&
4,725,000& 4,725
KIS0 2 A 3,909,750 0 3,909,750
A SN ALS 3,909,750 0 3,909,750
401 A& HIZ 201 8] 3,909,750 0 3,909,750
01 A& HI 3,900,000 0 3,900,000
o EYLNEFAVBUR EHMS(EXNHAH)
3,900,000,000& * 14 3,900,000
03 Al S THHI 9,750 0 9,750
o EYLNEYVBUR ELAY
3,900,000,000& * 0.25% 9,750
SEXNSAMLY 5,417,265 8,368,600 A 2,951,335
Xl 3,052,000
i 2,365,265
sEZ DBt 4 2,081,978 2,094,600 N 12,622
X 858,000
s 1,223,978
STHEHE HRFA 5,799 8,871 A3,072
201 £B-2%H| 2,919 4,011 21,092
01 At 22l 2,919 4,011 A1,092
< S EHl > 0
o SENLHER =& 7,0008 » 3 * 1392 2,919
202 04l 2,880 4,860 A 1,980
01 = LHH HI 2,880 4,860 A 1,980
o sENLHR =& 20,0008 » 3 = 482 2,880
SEHEEZE ZH ALY 1,471,179 1,651,429 A 180,250
X 858,000
s 613,179
401 Al HIZ 201 I 1,471,179 1,651,429 A 180,250
X 858,000
s 613,179
01 A& HI 1,466,782 1,645,483 A 178,701
o SEMEEZA HUIANS(2E, &M 2014E
EEY) 245,464,000& * 14 245,464
o SEMEEHIAFUAMY(&H,S00)
1,221,318,000& * 14 1,221,318
Xl 854,922

- 338 -




A B2 AIDL
HHM: s=XNEN
Sl SEFFIIBEY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 366,396
03 Al ST 4,397 5,946 A 1,549
o SEMBHATUANY F7
1,221,318,000& = 0.36% 4,397
Xl 3,078
= 1,319
FOIHAAY 29 565,000 414,300 150,700
401 AlEHIZL 201 Y| 297,000 106, 300 190,700
01 Al&H| 297,000 106, 300 190,700
o 0S5 & SHHMNEAY
970,000& * 100JH & 97,000
o IS2& XYAAE AXZA
4,000,000 * 5000 A 200,000
402 BI2H X 20| M 268,000 308,000 A 40,000
01 QIZEXIE2AIE 2 X 268,000 308,000 A 40,000
o (Ols3& HEg 40,000,000 = 2= 80,000
o I3 &= 15,000,000 * 2= 30,000
o Olssl& B 5,000,000& * 702 35,000
o X AHEY 10,000,000 * 304 30,000
o IIS2d B4 3,000,0008 * 3102 93,000
SECINAY A 40,000 20,000 20,000
402 BI2H X220l M 40,000 20,000 20,000
01 QIZEXIE2AIE 2 X 40,000 20,000 20,000
o sHEUEXMHALY 1,000,000 * 40= 40,000
XA 03 St 1,053,572 2,052,000 A 998,428
Xl 597,000
= 456,572
HEOHN HAXMOIS CHEIIAIY 338,572 169,000 169,572
Xl 237,000
= 101,572
401 AlEHIZL 2 0HY| 338,572 169,000 169,572
Xl 237,000
= 101,572
01 Al&H| 336, 131 169,000 167,131
o HEUoE EXFMOISCHEI ALY
336,131,000 = 1JH A& 336, 131
N 235,291
= 100,840
03 AlE 21| 2,441 0 2,441
o HEUoE EXHOISCHEI ALY
339,000,000 % 0.72% 2,441
N 1,709
o 732
ELSAHYE EAXA0S UASIIAMY 415,000 457,000 A 42,000
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X 361,000
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Xl 1,236,000
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01 At 2t 2l 500 2,000 A 1,500
< ol =dl > 0
o AIEE 2teg| HY=s 2 e
100,000& * 594 500
206 = Hl 5,498 5,498 0
01 MHZ 4l 5,498 5,498 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
st2EZE & HE MY 10,959 10,393 566
101 @14 Hl 7,559 6,993 566
04 JIZHHZ2XNEE S 7,559 6,993 566
o d=its2Acl F=HA AR
48,640% * 4% « 37 7,199
o AHEE= 7,199,000& * 5% 360
201 L2l 1,400 1,400 0
01 At 22l 1,400 1,400 0
<2dxE > 0
o B2 Y BHLY
70,0003 = 10¥ = 23l 1,400
206 = Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
o #=02 2M L HEPY
20,000& * 5& = 20X 2,000
HE0S S AH=H KA 75,000 80,000 A5,000
402 BIZEXtE0| A 75,000 80,000 A5,000
01 A=A EX 75,000 80,000 A5,000
o WIS H=2EL= 15,000,000& +* 5& 75,000
HE2IAZH (FS AL 42,569 59,414 A 16,845
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ol 2| 24,749 38,834 A 14,085
101 @14l 24,749 38,834 A 14,085
01 2= 24,749 38,834 214,085
<=g > 0
o Ne2REY
9,332& = 13F * 17AI2t = 128 24,749
Jl=&l 17,820 20,580 22,760
Jl2zl 17,820 20,580 22,760
201 et 14,820 17,580 A2,760
01 At 2teltl 14,300 17,474 23,174
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o HINEEE 7L 6,000& * 208 * 63l 720
o HHSE FY 2503 = 3,0000H 750
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o SAI EH,EH 300,000& = 208 = 64 3,600
o WAEY 130,000& = 1CH = 23] 260
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o teass 3.480
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